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QUESTION 1

Which statement is true regarding the cost cutoff date in Cost Accounting? 

A. It only affects whether or not you can process a cost adjustment. 

B. Transactions with a transaction date after the cost cutoff date will not be processed until the cost cutoff date is
changed to a date that is later than the transaction date. 

C. Transactions with a transaction date after the cost cutoff date will not be processed. These transactions will never be
processed in any subsequent cost processor run. 

D. Transactions with a transaction date before the cost cutoff date will not be processed until the cost cutoff date is
changed to a date that is before the transaction date. 

Correct Answer: B 

 

QUESTION 2

Identify two criteria to select a specific work definition in an inventory organization when defining a cost estimation in a
Cost Planning scenario 

A. Work definitions without alternates 

B. Work definitions with specific unit numbers 

C. Work definitions with the highest production priority 

D. Work definitions with the lowest production cost 

E. Work definitions with the highest costing priority 

Correct Answer: BD 

 

QUESTION 3

Your client uses actual costing and needs to cost to the subinventory level. They have a few subinventories that hold
normal goods and one subinventory that holds returned goods. They want their normal goods subinventories to be
costed differently from their returned goods subinventory. Which cost policy supports this requirement? 

A. Create a separate cost book for the normal goods subinventories and one cost book for the returned goods
subinventory Add both cost books to the same cost organization. 

B. Create a separate cost organization for the normal goods subinventories and one cost organization for the returned
goods subinventory. 

C. Manually create one cost profile for the normal goods subinventories and one cost profile for the returned goods
subinventory. 

D. Manually create one valuation unit for the normal goods subinventories and one valuation unit for the returned goods
subinventory. 
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E. EnaWe the inventory organization that holds the subinventories to be costed to the subinventory level by changing
the organization parameter field from "Costing Level" to "Subinventory." 

Correct Answer: E 

 

QUESTION 4

Your client has accounting rules that need specific customization. Which two options allow them to accomplish this"1 

A. Copy and rename predefined subledger journal entry rule sets before modifying them. 

B. Use a different journal entry rule set for each ledger with a different accounting convention. 

C. The subledger journal entry rule set does not need the same accounting event class as the accounting method. 

D. Journal entry rule sets do not require accounting rules. 

E. The subledger journal entry rule set does not need the same accounting event type as the accounting method. 

Correct Answer: C 

 

QUESTION 5

The process to map the AP invoices to the trade operation charges has completed. Which entity did the application use
to do this? 

A. Material Receipts 

B. Charge Names 

C. PreReference Types 

D. Routes 

E. Trade Operation Template 

Correct Answer: C 
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